<9 THEORY OF COST

What s Cost
of production

In order to produce goods service, a firm uses non factor inputs and factors of
production, these are inputs. The Total expenditure incurred on these inputs are
called cost of production.

Cost Function

Cost function refers to the mathematical relation between cost of a product and
the various determinants of costs. In a cost function, the dependent variable is
unit cost or total cost and the independent variables are the price of a factor, the
size of the output or any other relevant phenomenon which has a bearing on cost,
such as technology, level of capacity utilization, efficiency and time period under
consideration.
Cc=f(P)
P=Production, C = Cost &~ _—m.

Theories of
Cost

Theories

i) Traditional theory // \\\ i) Modren theory -

a) Short term cost b) long term cost

I TC AC MC LTC LAC IMC
I FC AFC

M. VC AVC

Explain the Short Run Cost withdeails OR

What do you meant by Total, Aver: Marginal Cost ?

Meaning Shortrun cost 'I“'é d to short run productivity. In short run atleast one factor is

kvarlable Dthers are fixed. In short run a producer can increase his productivity up
[ to.his productwn capacity

Types of & hege are three types of short run cost: -

Short Run R0 “Total Cost

Cost (11) “Average Cost
(iii) Marginal Cost

Total Cost Total cost of production is the sum of all expenditure incurred on producing a

given volume of output and total cost is the sum of fixed cost and variable cost.

TC=FC+VC
TC = YMC+FC
TC=ACx Qty

1. Fixed or Supplementary or Indirect Cost or Inescapable cost or Un
Controllable Cost or General Cost : are cost which do not change with
change in the qty. of output. Fixed cost remains fixed at every level of output.
Rent of building, wages of permanent employees, interest on fixed capital,
licence fees are example of fixed cost.
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Variable or Direct or Prime or Movable cost or Increasing/decreasing or
Avoidable Cost: are costs which vary directly with changes in the size of
output. These refer to that part of total costs which are incurred on variable
factors of production like labour raw materials, power, fuels lighting, wear
and tear of machines etc. The supply of variable factors can be changed
according to the level of output. Such costs increase when output increases
and decreases when output falls. That is why the"'j(-arei.called direct cost
because they change directly with the change in the level of qutput when the

production stops variable cost become zero. L —
Qty. of Output V.C. (000) y Ve
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- Quiput

lVau‘lable €osts, on the other hand are those costs which change with changes
«in output. These costs include payments such as wages of casual labour
‘employed, prices of raw material, fuel and power used, transportation cost

_etc. If a firm shuts down for a short period, it may not use the variable factors

of production and therefore, will not therefore incur any variable cost. Figure
6 above presents completely variable cost curve drawn under the assumption
that variable costs change linearly with changes in output.

¥ y e
VC

Tt
variable| ! |

Cwi
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There are some costs which are neither perfectly variable, nor absolutely
fixed in relation to the changes in the size of output. They are known as semi-
variable costs. Exaample: Electricity charges include both a fixed charge and a
charge based on consumption.

There are some costs which may increase in a stair-step fashion, i.e., they
remain fixed over certain range of output; but suddenyl jump to a new higher
level when output goes beyond a given limit. E.g. Costs incur rend towards
the salary of foremen will have a sudden jump if another foreman is
appointed when the output crosses a particular limit.

Relationship between TC, FC and VC
Qty. FC vC TC - e
0 10 0 10
1 10 10 20
2 10 18 28
3 10 24 34
4 10 28 38
5 10 32 42
6 10 38 48
7 10 46 56 0 ¢
8 10 62 72 |4 - output
*Fixed cost remain constant and parpllbj fo OX a‘ils and variable cost starts
from origin point and Total Cpst startsi from ﬁx*ed cost. Because, if production
is zero, then total cost equal tql fl)geo"cbst}r

‘».

K -
r

Average Cost

Average Cost is the per unlt Q{)st of h—cﬁmmodlty It is calculated by dividing the total
cost by the number of unlts‘pf a cpfnmodlty produced. At last Average cost is the sum
of Average fixed coé’tﬂdAyérage variable cost. Suppose total cost of production of 10

ens is Rs. 160 lnIhls Caseféost*per penor ACis 10/-.

- | ¥ g 4 AC = TC/QTY.
| r AC = AFC + AVC
“ay, [J9 [ Ac
0 10 - .

bin 20 20
0 28 14 T

3 34 11.33

4 38 9.5

5 42 8.4

6 48 8

7 56 8

8 72 9 b
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= Average Fixed Cost: is the per unit fixed cost of a commodity.

EC
AKC="g
Q ¥
Qt} FC AFC 10
0 10 i
1 10 10 .
2 10 §
4
3 10 33
2
4 10 25 ARC
5 10 20 0 1 2 3 4 5 x

ANC =VCiQty o \ AVC
Qty. VC AVC
0 0 = B 4 _J\‘.E-L____L — //
1 10 10 =
2 18 9 %1
3 4 8 .
4 28 7
5 32 6.4 2 4
i 38 o3 5 1 3 3 4 5 8 7 8 »
7 46 6.6 Crustput
B 62 T
i ,-"i\ J,_,-—'"'fl >

.u"

Marginal Cost

. --"1f it goes up

m..-_

Marginal ColSt lﬁd' e cha E ln,total cost due to production of one more or one less
unit of a com ity MC'is the additional cost of producing an additional unit or one
mor’e Uhit of Tutgput For example, if the total cost of producing 10 pens is Rs. 100 and

0 Rs. 108 by producing 11 pens, in this case MC is Rs. 8. Which is an
addl’tle‘h to the total, when an additional unit is produced. MC is related to variable

cost : and not to fixed cost. Since fixed cost remains the same in short period. MC curve
falls mltlally when production increases but after a point it rises rapidly which is due

to operatlon of law of variable proportions.

“Excuses don’t get results!”
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MC=ATC /AQ. MC=TCa-TC_y
Qty. of Qutput  TC Marginal cost
0 10 -
1 20 10 MC
2 28 g
3 34 6
4 38 B
5 42 4
6 48 6 ) ¥
7 56 g Output
g 12 16
Why does Short Run Average Cost Curve U Shaped
¥ 4 ¥ y
AVC AC

AFC

o X 0 X 0 Cutpatt figure (&) x
AFC+ AVC =AC

As the productionsinereases average fixed cost gives an falls in the initial stages of production,
average variable-cost dlso oes on falling. Consequently, the aggregate of these two costs, average
cost also fall and réaches its'minimum points as is shown in fig. (z) up to ‘A’ average cost curve is
falling itfs at its mlmmum point ‘A’. in this situation the firm is making full use of its product
capacity. The' firm i$"having optimum output. Optimum output refers to that level of output which
corresponds tg the lowest per unit cost of production as at point ‘A’ in fig (z). If firm produces
beyond this point, no doubt, average fixed cost will continue to fall but average variable cost will
begin to rise. Rising average variable cost makes the average cost to rise also. It is so because after
reaching its minimum level, rate of increase is average variable cost is much more than rate of
decrease is average fixed cost. The net effect is reflected in the upward rising AC curve. In this way
average cost curve being the aggregate of average fixed cost and average variable cost, initially falls
and having reached its minimum begins to rise.

1. Basis of AFCand AVC: Aveﬂage cost is. t‘he aggregate of average fixed cost and average variable cost.

2. Basis of Law of variable proportions: Initially, when variable factors are combined with a fixed
factor, then the fixed factor is more efficiently used consequently, AC begins to diminish. After the
fixed factors have been optimally used, production increases at a diminishing rate. This signifies the
operation of law of Diminishing return to a factor or law of increasing costs. That is why AC curve
begin to rise.
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Explain the relationship between Average Cost and Marginal Cost

Qty. of output TC AC MC ¥
0 10 0 - L
AC
1 20 20 10 &
2 28 14 8 e
3 34 11.33 6 ~
4 38 95 4 *
3 42 84 4
6 48 8 6
7 56 8 8 B 2
8 72 o 16 e
1. Bothare AC and MC both are calculated from TC. AC is the per unit cost of a commodity and
calculated | marginal costis the change in total cost due to produce of one more or one less unit
from total | of a commodity. 3
cost AC=TC/Q MC=ATC / AQ. MC =TC, TC
2. When AC When AC curve is falling, MC curve will be belo'w it. It S0 because whereas
falls, MCis | average cost is the aggregate of average fixed cost 'and average variable cost.
less than Marginal cost refers only to change in variableost. The rate of fall of the variable
AC cost is faster than that rate of fall of both Varlable & fixed cost together so that
MC less than AC. | P
3. When AC When AC curve is rising, MC curve will be above 1t It so because average cost is
rises, MCis | the aggregate of AFC & AVGs MC refers dﬂly;o change in variable cost. The rate of
greater increasing of the Varlable- cost- A5 fasters than that rate of increasing of both
than AC variable & fixed cost together So that MC rising than AC
4. MCcutsto | MC cuts to AC its lowest pomt “In above diagram MC cuts to AC its lowest
ACits point(E). In schedule whe‘p output is “7 units than our Average cost is 8, which is
lowest minimum A Cost. At thrs.level our marglnal costis also 8
point [ b
5. MCalways | MCalways 1eft to AC-Tn flgure when MC falling, MC left to AC. When AC rising the

left to AC ]

,.--MC leff|t0 AC Because the rate of increasing of MC is greater than AC.

!

Explain the Long Term Cost with details

Meaning

1, The long run is the period of time in which all inputs are variable. The firm has

Usufficient time to adjust its use of all inputs to produce output in the least costly
way. In other words, there is another aspect of long run for example it is a
planning horizon. The long run refers to the fact that producers can plan ahead
and choose many aspects of the short run, in which they will operate in future. In
other words, the producer operates in the short run and plans in the long run.
There are three types of long term cost: -

e longrun total cost

e longrun average cost

e long run marginal cost
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1. Longrun
total Cost

In long run all factors are variable. All types of cost are variable. The long run total
cost is the minimum cost at which each level of output can be produced. In the long
run firm can produce a given level of output at the minimum cost since it has
sufficient time (a) to select the optimum plant size (b) to select the least cost factor
proportion. This means that the long term total cost is always less than or equal to
short run total cost but it is never more than short run total cost LTC < STC.

y SJC STCLTC y LTC

LT.C.

0 X 0 X

1. Long term cost starting from original point because. there is no fixed cost in

long run, all costs are variable. - B
2. longrun total cost curve is positive slope I-" Y

2. Longrun
Average
Cost or
Envelope
Curve

output can be had from a special sized plant appropriate to it. If such a plant is put to

If we are dividing the total long run cost by gty.of output fhen,result will be long run
average cost. Long run average cost refers to mmlmum “possible per unit cost of
producing different quantities of output in Fhe‘lnng perwd

LRAC =LRTC / Qty. e &

YA
5AC sg, LAC

LY

X

\ W & o Output
In the long period, each firm can make use of different sizes of plants. A given qty. of

operatlon goods will be produced at lowest cost. A rational producer in the long run,
will produce with the help of such a plant as may reduce the average cost to be the
minimum with change in demand for the output, he will go on changing the size of
plant each plant has its short run average cost curve (SAC) with whose help we can
estimate long run average cost (LAC).

Supposing a firm can make use of two types of plants. One is a small plant and its
short run average cost curve is SAC and second is a large plant and its short run
average cost curve is SAC2. of the two plants, the firm can in the long run, plan to
invest one the most profitable one. It can be known with the help of these two short
run average cost curves as to which plant will be suitable to produce different

quantities of output at the minimum average cost.

“Excuses don’t get results!”
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L LOl’lg term average cost curve as Envelope curve: -

It is known as “envelope curve” because it encloses all short run average cost
curves. It implies that average cost in the long run cannot exceed short run
average cost.

r.ﬂ

LAC.

3 Fig. (¥}
0 Ougput Q X

n fig. (x) long run average cost has been shown. LOIl'g run avel:age cost curve is
tangent to each short run average cost curve at somie pomt To the left of
minimum point ‘M’ of long run average cost. Thﬁs point-of tangency is on the
falling part of short run average cost curve. Thg_rsasqn being that up to
minimum point M, the slope of long ru‘n aver'age._cosbeuﬁ/e is reducing. As such
the slope of short run average cost cugve w;ll be nega‘tlve because at the point of
tangency slopes of both the curves aré equa} ‘To the right of minimum point M
the point of tangency will be.an the I‘lSlhg part ‘of short run average cost curves. It
is because to the right of: pomt NI leng'ﬁunfaverage cost curve is rising. At point M
long run minimum average cest and $-1‘101’t run minimum average cost are equal

F

to each other. [

_—— f: \_ . o /

¢ Longrun average cost curve'as Planmng curve: -

Long rupraverage cost tut;ve is also called planning curve with the help of this
curve :!1 firm can ]5]an' as to~ ‘which plant it should use to produce different
quantltléfs bf-oul;put,«gtrthat production is obtained at the minimum cost.

o ,~

3. Longrun
marginals
cost %

L
| |

o Deﬁmﬂlon ]Long run marginal cost is the addition to total cost attributable to an

addltmnal unit of output when all inputs are optimally adjusted.
Me_j_anmg Long run marginal cost is the change in long run total cost due to produce

%| of oné more or one less unit of a commodity.

LMC

"y
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Why does Long Run Average Cost Curve U Shaped

Meaning

Long run average cost curve is U shaped. At first LAC curve slopes downward,
that is as the production increases, LAC goes on falling. After some time, it
becomes constant. After a given amount of output LAC begins to rise. long run
average cost curve is U shaped because of Economies and Diseconomies of scale
of production.

Economies or Diseconomies arising out of large-scale production can be grouped
into two categories: -

e Internal Economies or Diseconomies

e External Economies or Diseconomies

Internal
Economies OR
Diseconomies

Internal economies arise purely due to endogenous factors relating to efficiency
of the entrepreneur or his managerial talents or the

type of machinery used or the marketing strategy adopted. These economies
arise within the firm and are available exclusively to the expanding firm.
Technical Economies and Diseconomies
Managerial Economies and Diseconomies
Commercial Economies and Diseconomies
Financial Economies and Diseconomies
Risk bearing Economies and Diseconomies

External
Economies OR
Diseconomies

External economies and diseconomies are those économle,s and diseconomies
which accrue to firms as a result of expansion in the otrtput of the whole industry
and they are not dependent on the outputilevel of ‘individual firms. They are
external in the sense that they accrue to firms not out of their internal situation
but from outside i.e. due to expansion of |the mdustry

e Cheaper raw materials and capital edulp’men‘t

Technological externaléconomiesa™
Development of skllled'labquf"r T
Growth of ancillafy industries .«
Better transportatlon and marketmg facilities

Econom}es ef.lnfor. atlon

SAC curve.

Explain the Relationship between Long Run Aerage Costs Short Term Average Cost Curves

| SAC
Cost(Rs) |

0 Output X

e SAC curve represents the average costs with reference to single plant, whereas LAC curve
represents the average cost with reference to several plants.

e SACis Ushaped but LAC is relatively flatter.

e LAC cannot be more than SAC it is because LAC curve is tangent to SAC curve. LAC curve never cuts

“Excuses don’t get results!”
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Types of Cost

1. Money cost | Money cost of production refer to the expenditure on hiring or buying of inputs

or nominal
cost

for producing a given output. Thus the money spent on payment of wages and
salaries of employees of the firm, payment for raw material, payment of fuel
lighting, payment of Int. as capital employed, payments for insurance against
risk are all parts of the firm money costs of production.

Real Cost

Real cost refers to the pain, discomfort and sacrifice incurred in supplying the
factors of production by their owners. Since elements like pain, discomfort and
scarifies are subjective, so it is difficult to measure the real costs. For example, if
a carpenter has to work for eight hour to produce a table then this labour for
eight hours will be the real cost of the table.

Explicit
costs

Explicit costs are those money payments which are actually made by a firm for
purchasing or hiring the services of factors of production. Payment of raw
materials, wages and salary, payment of bills, office exp., rent, int. in capital are
example of explicit cost. These costs are also called absolute cost, outlay cost.

As per left witch: “Explicit costs are those cash payments whlch firms make to
outsiders for their services and goods.” P

Imputed
cost or
Implicit
Costs

Implicit cost is the cost of self-owned and self-employed factors of production
by a firm. As stated above, economist include these e’ost 1n ‘the total cost of
production of a commodity. r— L

.

These cost include the following Examples - =)
* Rent of the building owned by the entrepreneur Y
¢ Interest on capital invested l_)y the entqepreheurs in his own business.

* Wages or salary for entrep’reneur s ownlabour “Implicit costs are costs of self-
owned and self—employed resourfeés ]

Direct or
Traceable
costs

Direct costs are these whlch have dlrect relationship with a component of
operation like manufaeturing a product organizing a process or an activity etc.
Direct costs are costs that are readllyldentlfled and are traceable to a particular
product, Ioperatlom ..Q_l" ﬁlant EVen overhead costs can be direct as to a
department product lme sahés territory, customer class etc. can be treated as
Direct Cost

Indirect or
Non- }
Traceal_;l§
costs

__..Indlr t ccrstS,_are those which are not easily and definitely identifiable in
“I'relation to
‘not- V151bly ‘traceable to specific goods, services, operations, etc,;

a ‘plant, product, process or department. Therefore, such costs are
but are
nezertheless charged to different jobs or products in standard accounting

pI_'_actlce The economic importance of these costs is that these, even though not
(fdirectly traceable to a product, may bear some functional relationship to

production and may vary with output in some definite way.

Private Cost

Private cost is the cost incurred by an individual firm for producing a
commodity it includes both the explicit cost as well as implicit cost.

As per the Miller:“Private costs are costs incurred by the firm or the individual
producer as a result of their own decisions.”

Social costs

Social costs are those costs which is bear by whole society in the production of
goods & services. For example, During the process of manufacturing cloth the
smoke emitting from the chimneys of textile mills spoil the garments worn by
the people and so they have to spend more on laundry.
Some other examples of social costs are given below: -

“Excuses don’t get results!”
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e When trees are felled by a private forest contractor, the social cost to the
community may be in terms of floods, soil erasion, loss of natural sanctuary
for animals.

e Many industrial chemical plants discharge their effluents into a river nearby.
This is not only kills the fish in the river but also increases the cost of putting
water treatment plants to municipalities.

9. Incremental
costs and
Sunk costs

Theoretically, incremental costs are related to the concept of marginal cost.
Incremental cost refers to the additional cost incurred by a firm as result of a
business decision. For example, incremental costs will have to be incurred by a
firm when it makes a decision to change its product line, replace worn out
machinery, buy a new production facility or acquire a new set of clients. Sunk
costs refer to those costs which are already incurred once and for all and cannot
be recovered. They are based on past commitments and cannot be revised or
reversed if the firm wishes to do so. Examples of sunk costs are expenses
incurred on advertising, R & D, specialised equipments and fixed facilities such
as railway line. Sunk costs act as an important barrier to entry of firms into
business. _

10. Historical
costs and
Replaceme
nt costs

Historical cost refers to the cost incurred in the past on_the acquisition of a
productive asset such as machinery, building etc. Replacement cbst is the money
expenditure that has to be incurred for replacmg an old asset. Instability in
prices make these two costs differ. Other things remammgkhe Same, an increase
in price will make replacement costs highesthan histérical cost.

11. Accounting
Costs

o efforts

An entrepreneur has to pay price for the factors of | pro.ductlon which

he employs for production in the form qf yvages, Raw material expense, fuel and

power expense, rent of factory (use onlyl forpreductlon) etc.

e Accounting / Business’ Costs: All—apeve cost includes in cost of Production
as per accounting Cﬂnc'ept _ArC"tH.mﬁmg1 costs are explicit costs and includes
all the payments and char_ges made by the entrepreneur to the suppliers of
various productive, facto;s It generally happens that an entrepreneur
invests a certain amhunt of capltal in his business. If the capital invested by
the entrepreneupm hlsbusmefss had been invested elsewhere, it would have
earned zi\ee.rtaln amount’ of interest or dividend. An entrepreneur may
devote| his time to his own work of production and contributes his

- enFrepTeneprlal and managerial ability to do business (as he devotes such

h ! ortime set up his own business, but he would be unable to generate

_money if he provides such services elsewhere) are not treated as part of

_Qroductlon cost generally due to fair presentation concept.
_As per the definition of Nicheolsen: Accounting costs refers to out of
pocket expenses, historical cash, dep. and other book keeping entries”

12. Economic
costs

e Economic costs: Economic cost is differ from the accounting concept. It
includes: -

e The normal return on money capital invested by the entrepreneur himself in
his own business.

e The wages or salary not paid to the entrepreneur, but could have been
earned if the services had been sold somewhere else.

e Accounting Cost

In other words, Accounting costs are also called explicit costs whereas the cost

of factors owned by the entrepreneur himself and employed in his own business

is called implicit costs.

“Excuses don’t get results!”
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MULTIPLE CHOICE QUESTIONS

Q.1. Which cost increases continuously with the increase in production? [SM-17]
(a) Average cost. (b) Marginal cost.  (c) Fixed cost. (d) Variable cost.

Q.2. Total cost in the short run is classified into fixed costs and variable costs. Which one
of the following is a variable cost? [SM-19]
(a) Cost of raw materials. (b) Cost of equipment.
(c) Interest payment on past borrowings. (d) Payment of rent on building.

Q.3. Inthe short run, when the output of a firm increases, its average fixed cost: [SM-20]

(a) Increases. (b) Decreases.
(c) Remains constant. (d) First declines and then rises.

Q.4. With which of the following is the concept of marginal cost closely related ?[SM-23]

(a) Variable cost. (b) Fixed cost y

(c) Opportunity cost. (d) Economic cost.f""
Q.5. Which of the following is not a determinant of the firm's C(F)S"t_f!,lnt_f_i'o_l__l-?“[SM-?)?)]

(a) The production function. (b) Theprice of labiour, -

(c) Taxes. (d) The prlce oftheﬁm s output.

Q.6. The efficient scale of production is the quantlty Pf outputthat minimizes. [SM-58]

(a) Average fixed cost. A (b, Ayerage total cost.
(c) Average variable cost. Ay (d]_l\{[argmal cost.

Q.7. Which of the following staten;'er}ts is;'false'm respect of fixed cost of a firm?[SM-65]

(a) As the fixed 1nputs for a firm can!not bé changed in the short run, the TFC are constant,
except when the prices of the fixed fnputs change.

(b) TFC continue to eXist even when 1 production is stopped in the short run, but they exist in
the long run even when ‘production is not stopped.

(c) Total Fixed Costs ( FC) can be defined as the total sum of the costs of all the fixed inputs
assoc1ated W}th prodﬂctlon in the short run.

(d) In the short run, a firm’s fixed cost cannot be escaped even when production is stopped

Q.8. When mé__irg-iﬁ'el costs are below average total costs, [SM-69]

(a) Average fixed costs are rising. (b) Average toatal costs are falling.
(c) Average total costs are rising. (d) Average total costs are minimized.

Q.9. Identify the two cost curves which start from the same point on the Y-axis:
(a) TVC and TFC (b) TFC and AVC (c) TFC and TC (d) TFC and AFC

“Excuses don’t get results!” Page 9.12
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Q.10.

Q.11.

Q.12.

Q.13.

Q.14.

Q.15.

Q.16.

INSTITUTE OF COMMERCE THEORY OF COST

The marginal cost for a firm of producing the 9th unit of output is Rs. 20. Average cost
at the same level of output is Rs. 15. Which of the following must be true? [SM-74]

(a) Marginal cost and average cost are both falling.

(b) Marginal cost and average cost are both rising.

(c) Marginal cost is rising and average cost is falling

(d) Itis impossible to tell if either of the curves are rising or falling

“Salary of Permanent staff” is which type of cost?

(b) Fixed and Implicit Cost
(d) Variable and Explicit Cost

(a) Variable and Implicit Cost
(c) Fixed and Explicit Cost

The cost curve, which is inversely S-shaped is:

(b) Total Fixed Cost Curve
(d) Marginal Cost Curve

(a) Average Cost Curve
(c) Total Variable Cost Curve

In figure below, possible reason why the average variable cost curve approaches the
average total cost curve as output rises is:[SM-78] -

Cost e

— 0
e Quantity

(a) Fixed costs are fafhn while total costs are rising at rising output.
(b) Total costs are rlslpg and average costs are also rising.

(c) Marginalt costs are boye average variable costs as output rises,
(d) Avgrage fixed'costs are falling as output rises.

Mal"'"g'-i'h@l coéi;clllanges due to changes in

(a) Total""c-:.osg:-—-"‘(b) Average cost (c) Variable cost (d) Quantity of output

Which of the following statements is correct?

(a) Fixed costs vary with change in output.

(b) If we add total variable cost and total fixed cost we get the average cost.

(c) Marginal cost is the result of total cost divided by number of units produced.
(d) Total cost is obtained by adding up the fixed cost and total variable cost.

Which curve is not affected by fixed cost?

(a) MC Curve (b) TC Curve (c)ACCurve (d)AFC Curve

“Excuses don’t get results!” Page 9.13
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Q.17. The costs which are prime cost and can be changed with changes in level of output
are called :
(a) Fixed cost (b) Variable cost (c) Explicit cost (d) Implicit cost.

Q.18. ACis obtained by dividing TC by the level of :
(a) Labour (b) Output (c) Land (d) Technology

Q.19. Identify the fixed cost from the following:

(a) Labour Cost (b) Electricity bill
(c) salary of watchman (d) Cost of raw materials

Q.20. Why the average fixed cost curve does not touch the output axis

(a) Because AFC cannot be negative (b) Because AFC cannot be zero
(c) Because AFC cannot be less than one (d) None of these.

Q.21. Variable cost includes the cost of

(a) Hiring the building for the factory (b) Purchasing heavy. machlnes
(c) Paying the manager of the factory (d) Paying the labourers =Y

Q.22. The difference between the average total cost and average.,_fjggd.cqst__shows
(a) Normal profits (b) Implicit costs (c) Average.\zariable cos"t' "‘fd—)’"bpportunity costs

B

Q.23. Any expansion in output by a firm in the short perlod will always reduce the
(a) Average variable cost (19)] AYerage fixed cost

(c) Both average fixed and variable Cos-ts' [d) N?ﬂe of the above.
A !,,«'- _ » |
Q.24. The addition or increment te' the total cost involved in expanding or contracting
output by one unitis called ~ % " %t

(a) Fixed cost per unit - \ (b_-)Varlable cost per unit
(c) Total cost per unlt e} !_ " ~(d) Marginal cost.

T
| P

‘f‘

Q.25. When the law of dlmpmshmg returns begins to operate the TVC curve begins to

(a) Fall at, afl 1ncrqasm rate (b) Rise at a decreasing rate
() Fall at a decreasm rate (d) Rise at an increasing rate

Q.26. Dlml;ushmg marglnal returns imply:

(a) Decreasmg average variable cost (b) Decreasing marginal cost
(c) Increasing Magrinal cost (d) Decreasing average fixed cost

Q.27. The difference between average total cost and average variable cost:

(a) Is constant (b) Is total fixed cost
(c) Gets narrow as output decreases (d) Is the average fixed cost.

Q.28. Average fixed cost can be obtained through:(N,06) (d)

TFC EC TC TFC
a == == C == = 3
(a) AFC (b) AFC (c) AFC (d) AFC

TS TU PC T Unit
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Q.29. A firm's average fixed cost is Rs. 20 at 6 units of output what will it be at 4 units of
output?(F,07) [SM-42]
(a) Rs. 60 (b) Rs. 30 (c) Rs. 40 (d) Rs. 20

Q.30. If total cost at 10 units is Rs. 600 and Rs. 640 for 11th unit. The marginal cost of 11th
unit is:M,07)
(a) Rs. 20 (b) Rs.30 (c) Rs. 40 (d) Rs.50

Q.31. What is the total cost of production of 20 units, if fixed cost is Rs. 5,000 and variable
costisRs.2/-?(A,07)
(a) 54,00 (b) 5040 (c) 4960 (d) 5020

Q.32. Afirm's average fixed cost is Rs. 40 at 12 units. What will be the average fixed cost at
8 units:(F,08)
(a) Rs. 60 (b) Rs. 70 (c)Rs.90 (d) Rs. 80

Q.33. A firm producing 7 units of output has an average total cost of Rs-150 and has to pay
Rs. 350 to its fixed factors of production. What is Average variabletost"(],OS) [SM-40]

(a) Rs. 200 (b) Rs. 50 (c) Rs. 300 (r:l) Rs. 100
Q.34. A firm's average fixed cost is Rs. 20 at 6 units of-outp_ut What wﬂl 1t be at 3 units of
output?(],08) - =
(a) Rs. 60 (b) Rs. 30 (Rs.40 | | 2 () Rs. 20
. I i ‘,e‘ ‘
Q.35. OUTPUT (Units) TOTAL COST(D 08)'_?:';
2 p—y ¥ .
3 I. - -_'-; = .::'_ 6 0{}
Find Average Fixed d)st of 3 unlts
(a) 10 (b} 30 | ~ (c) 65 (d) 60
Q.36. From the fo],l_owmg detalls, find out the average variable cost of 10 units:(J,09)
OUTPUT,,* 70 10 20
Total cost: " Rs. 200 Rs. 400 Rs. 800
(a) Rs. 40 (b) Rs. 20 (c) Rs. 200 (d) Rs. 400

Q.37. The total cost incurred for 10 units is Rs 400 and 20 units is Rs.800. Find the
marginal cost.(],09)
(a) Rs. 400 (b) Rs. 40 (c) Rs. 200 (d) Rs. 20

Q.38. Which one of the following is correct?(D,09)
(a) AFC = AVC + ATC (b) ATC = AFC - AVC
(c) AVC = AFC + ATC (d) AFC = ATC - AVC.
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Q.39.

Q.40.

Q.41.

Q.42.

Q.43.

Q.44.

Q.45.

Q.46.

Q.47.

Q.48.

Q.49.

If variable cost of 5 units of output is 100 and fixed cost is 40. Find average cost at 5
units of output.

()8 (b) 100 (c)108 (d) 540
Find AFC of 3 units:(D,09)

Unit Cost 0 1 2 3

Total cost 15 25 35 45

(@) 5 (b)10 ()15 (d) 30
What will be the TVC if we produce 2 unit?(J,10)

Unit 0 1 2

Total Cost 20 37 50

(a) 15 (b) 05 ()17 (d) 30

The total cost of production of 10 units is Rs. 200. When production is increased to 20
units its total cost becomes Rs. 600. What will be its marginal cost.(J,10)
(a) 400 (b) 40 (c)4 (30

Units 0 1 2 3 4 :
Total cost 20 30 40 45 50 £
What will be the AFC at 4 units of output.(J,10) Y

(a) 2 (b) 3 ()4 P
Direct cost is also known as:(D,10) -
(a) Indirect Cost (b) Traceablq cost
(c) Opportunity Cost (d‘) Accountu?gn(fost
o A
A firm AFCis Rs. 200 at 10 unlts of output what w1ll be it at 20 units of output?(D,10)
(a) 500 (b) 100 (c) 15(r‘ (d) 200
What will be the AFF of 2 umts-accordmg to the table given below: (D,10)
Output | ' ¥
Total Cost (in Rs.) I 580 689 850
(@) 105 y l(b)—135 (c) 235 (d) 290
leed cost is known as cost.(D,10)
(a) Prlmg "-—;,. (b) Direct (c) Overhead (d) Direct
Average Cost Curve is also known as .(D,10)
(a) Profit curve (b) Demand curve  (c) Supply curve (d) None of these

From the following details, find out the average variable cost of 10 units: (D,10)

OUTPUT: 0 10 20
Total cost: Rs. 200 Rs. 400 Rs. 800
(a) Rs.40 (b) Rs. 20 (c)Rs. 200 (d) Rs. 400
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Q.50.

Q.51.

Q.52.

Q.53.

Q.54.

Q.55.

Q.56.

Q.57.

Q.58.

Find out AFC of 3 unit:(J,11)

Unit O 1 2 3

TC 300 1,000 2000 3,000

(a) 100 (b) 200 (c) 300 (d) 400.
Units O 1 2

TC 580 1,200 1,500
Calculate AFC at 2nd unit of output (J,11)

(a) 235 (b) 290 (c) 310 (d) 920.

What will be the AFC of 3 units of Output as per table given below?(D,11)
Output 0 1 2 3

Total Cost

(inRs.) 300 1,000 2,500 3,000

(a) 100 (b) 1,000 (c) 200 (d) 400

What will be marginal cost of 67 units of production accountlng to the table given
below:(D,11) -

Units of - ,‘_j‘:'_:---""'

Production 0 10 25 37 67 £

Total Cost 160 200 300 500 1,400 -

(a) 10 (b) 20 (c) 30 ()50 -

The average fixed cost for producing an outpu"tI of 6 units_pf a product by a firm is Z
30. The same cost for producing an output of 4 ft'"s vﬁf‘_ll-bé Rs (D,11)

(a) 50 (b) 45 ()25 (d) 2

Given

Output 0 4 S
Total Cost (Rs.) 20 24 1 48 yF
What will be the AFC.6fZunits of Output(D '11)

(a) 2 )3 ~ (c]ZF @5

What will be'the totl 1 ﬁxed cost for the production of three units as per the details
given below (],1ﬁ) T

UnitX » /0 &1 2 3

Total Cost L 620 940 1555 3670

(a) 620 " (1) 640 (@ 1115  (d) 2650

Output 0 1 2 3 4 (D,12)

Total cost 25 45 60 85 105

Find AVC at 4 units

(a) 20 (b) 30 (c) 25 (d) 26

The change in total cost due to one unit change in output is referred to cost
(D,12)

(a) Average (b) Average variable (c) Marginal d) Average fixed
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Q.59.

Q.60.

Q.61.

Q.62.

Q.63.

Q.64.

Q.65.

Q.66.

Q.67.

Q.68.

Q.69.

AFC at 6 units of output is Rs.30. How much is at 4 units(D,12)

(a) 25 (b) 35 (c) 45 (d) None

A firms total cost is Rs.200 at 5 units of output and Rs.220 at 6 units of output. The
marginal cost of producing 6th unit of output will be Rs. (D,12)

(a) 20 (b) 220 (c)120 (d) 440

What will be the TVC if we produce 4 units?(D,12)

Output 0 1 2 3 4

TC 25 30 40 50 60

(a) 25 (b) 35 (c) 45 d) 55

Direct costs are also known as .........coceeeeieens .(J,13)

(a) Traceable costs (b) Indirect costs

(c) Opportunity costs (d) Real costs

Marginal cost changes due to change in cost. (J,14) _am
(a) Total (b) Fixed (c) Average  (d) Variable -‘ —

A firm produces 10 units of a commodity at an average tothl cost of Rs. /200 and with a
fixed cost of Rs. 500. Find out the component of average yarlable cost in the total
cost:(],14) .
(a)Rs.300  (b)Rs.200  (c)Rs.150 (d) RS 100 v

| u e
Average total cost to a firm is Rs/ 600.when 1tiproduces 10 units of outpur and Rs.
640 when the output is 11 units. The MC o'f the' 1;1t“h unit is: (J,14)
(a) Rs. 40 (b) Rs. 540 [c) RS. 840 [d)—ﬂs 1 040

Average cost of producing 50 umts of any commodlty is Rs.250 and fixed cost is
Rs.1,000. What will be_the average ﬁxed cost of producing 100 units of the
commodity?(D,14) { il

(a) Rs.10 (b) Rs. 'T’,Q r (c] RS.20" (d) Rs.05

A company produce 10’un1ts of output and incurs Rs.30 per unit as variable cost and
Rs.5 per unltrof fixed cost. What will be its total cost of producing 10 units?(D,14)

(a) Rs 300 (b) Rs.35 (c) Rs.305 (d) Rs.350

On the basns of the following data what will be the marginal cost of the 6th unit of
output?(D,14)

Output 0 1 2 3 4 5 6
Total Cost (inRs.) 240 330 410 480 540 610 690
(a) Rs.133 (b) Rs.75 (c) Rs.80 (d) Rs.450

If marginal cost equals average total cost,

(a) Average total cost is falling
(b) Average total cost is rising
(c) Average total cost is maximized
(d) Average total cost is minimized

“Excuses don’t get results!” Page 9.18



H PAR.AS

Q.70. The marginal product curve is above the average product curve when the average
product is
(a) Constant (b) Decreasing (c) Increasing (d) None of above

Q.71. Asoutput increases, average fixed cost:
(a) Remains constant (b) Starts falling (c) Startrising (d) None

Q.72. Which of the following curves never touch any axis but is downward?

(a) Marginal cost curve (b) Total cost curve
(c) Average fixed cost curve (d) Average variable cost curve

Q.73. The ‘average’ fixed cost of a firm

(a) Is independent of the output

(b) Depends on the output and increases with increase in it
(c) Depends on the output and decreases with increase in it
(d) None of the above.

Q.74. Marginal cost curve always cuts the average cost curve —' =
(a) From below on the falling portion of the AC curve J
(b) From below on the rising portion of the AC curve L. o 4
(c) From below on the minimum point of the AC curve o
(d) From below on any point of the AC curve. B
Q.75. Rising portion of marginal cost curve is due to Bl

(a) Increasing returns to varying factor ===, (b) Decreasmg returns to varying factor
(c) Constant returns to varying facto-r“",-. !,,«r(d) Nf)né of the above.

Q.76. When averae cost is fallings, m‘arglnal cosL

(a) May also be falling & (b), May be rlsmg
(c) May be rising or fa‘lling e A0 (dj Has no relation with average cost

Q.77. When average cost lEf const;mt, marglnal cost

(a)Is equal to averagelcost- (b) May be constant (c) May be rising (d) May be falling.
Q.78. Whén-@verag'e cost is rising, marginal cost

(a) Must'be ris_in‘lg (b) May be rising

(c) May be decreasing (d) None of the above.

Q.79. Generally the profits are maximized in the short run at the point at which
(a) Marginal cost of production is equal to the marginal return
(b) Marginal return, is negative
(c) Marginal return is zero
(d) Marginal cost is zero.

Q.80. Ifmarginal cost is above average variable cost at a time when output is rising, then

(a) Average total cost is falling (b) Average variable cost is rising
(c) Average variable cost is falling (d) Average total revenue is rising.
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Q.81.

Q.82.

Q.83.

Q.84.

Q.85.

Q.86.

Q.87.

Q.88.

Q.89.

Q.90.

Q.91.

Q.92.

All of the following curves are U-shape except
(a) The AVC curve (b) The AFC curve (c) The AC curve (d) The MC curve.

If firm’s average cost curve is falling then marginal curve must be:
(a) Falling (b) Rising  (c) Below average cost curve  (d) None of the above

As output increases, average fixed cost:(N,06)
(a) Remains constant (b) Starts falling (c) Startrising (d) None

AFC curve is:(F,07)

(a) Convex & downward sloping (b) Concave & downward sloping
(c) Convex & upward sloping (d) Concave & upward rising

U-shaped average cost curve is based on:(F,07)

(a) Law of increasing cost (b) Law of decreasing cost
(c) Law of constant returns to scale ~ (d) Law of variable proportions__

When shape of average cost curve is upward, marginal cost;(’l'\;i‘,j(_)'_'fi)":"‘ .
(a) Must be decreasing (b) Must be cons!"tant
(c) Must be rising (d) Any of these -

I

Marginal Cost changes due to changes in : . 3
(a) Total cost (b) Average cost (c) Variable doét_.:;' r’s _(.d)"' Quantity of output

At which point does the marginal cost cﬁiﬂve 1nt¢rsect the average variable cost curve
and short run average total cost curve"(N"ﬂ*/')_ A
(a) At equilibrium points - (b) At thelr lowest points

(c) At their optimum points A j ‘(d) They don't intersect at all

Which curve is nevqr U- shapedl_(},09)

(a) ATC curve || (bI_AVC cu;:aze —~ [c) AFC curve (d) MC curve
Which statement amPng’below is correct in reference in Average Fixed cost. (D,13)
(@ Never becbmes zefo" (b) Curve never touches x-axis

(© Gurve never touches y-axis (d) All of the above

A firm w1ll close down in the short period, if its AR is Less than: (J,14)
(aQ)AC (b) AVC (c) MC (d) None of the above

Average fixed cost curve is always:(D,14)

(a) Declining when output increases

(b) U-Shaped, if there are increasing returns to scale
(c) U-Shaped, if there are decreasing returns to scale
(

d) Intersected by marginal cost at its minimum point
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Q.93. Technically efficient combinations of inputs is those which :
(a) Minimises cost (b) Minimises loss
(c) Maximises profit (d) Maximises revenue.

Q.94. Falling portion of long-run AC curve is due to

(a) Economies of scale (b) Returns to scale
(c) Law of variable proportions (d) Constant returns to scale

Q.95. Inthe long run some firms will exit the market if the price of good offer for sale is less
than.
(a) Marginal revenue (b) Average total cost (c) Marginal cost. (d) Average revenue.

Q.96. The cost of one thing in terms of the alternative given up is known as :
(a) Production cost  (b) Physical cost (c) Real cost (d) Opportunity cost.

Q.97. The cost, ‘what has to be paid to retain it in its present use’ is called

(a) Nominal cost (b) Social cost of a factors of produaction
(c) Opportunity cost of a factor (d) Economic cost of a facﬁo'pS'pI%rodyction.

Q.98. The normal long-run average cost curve is influenced by tlllg___,__.n--j:- )

(a) Principle of diminishing returns e ¢
(b) Economies and diseconomies of large scale productlon e
(c) Principle of constant returns to scale 'I > 4
(d) All of the above. I v

Q.99. Ifthe LAC curve falls as output expands t]:u-s fallifs :iue to

(a) Economies of scale
(c) Diseconomies of scale

i (b)The law of diminishing returns
{d) Any of the above.

Q.100. Long run average cost curves. are Umadly
(a) U-shaped | (b) Inverted 10-shaped (c) V-shaped (d) L-shaped.

F =
— ¥ |

Q.101. Opportumty costs arF also known as
(@) Slel over costs (b] Money costs (c) Alternative costs  (d)External costs

Q.102. Rakesh mhertted 1 acre of land from his grandfather who paid Rs. 10,000 cash for the
land back in 1951. Today, land in the area sells for Rs. 2,00,000 per acre. What is the
opportumty cost to Rakesh for keeping the land?

(a) Nothing, since the land was inherited

(b) Nothing, since the grandfather paid cash

(c) Rs. 10,000, since this is what is cost Rajesh’s grandfather

(d) Rs. 2,00,000, since this is what Rakesh is giving up by keeping the land.

Q.103. All money costs can be regarded as :
(a) Social costs (b) Opportunity costs (c) Explicit costs (d) Real costs
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Q.104. The cost assigned to factors of productions that the firm neither hires nor purchases
is called
(a) Social cost (b) Opportunity cost (c) Economic cost (d) Implicit cost.

Q.105. The cost that firm incurs in hiring or purchasing any factor of production is referred
as:
(a) Explicit cost (b) Implict cost (c) Variable cost (d) Fixed cost

Q.106. Suppose that an owner is earning total revenue of Rs. 1,00,000 and is increasing
explicit cost of Rs. 60,000. If the owner could work for another company for Rs.
30,000 a year, we would conclude that:

(2)The firm is earning economic profit or Rs. 10,000.
(b) The firm is earning accounting profit of Rs. 40,000
(c) The firm is earning economic profit of Rs. 40,000
(d) Both (a) and (b)

Q.107. Suppose the short run cost function can be written as TC = 250 + 10 Q. Average Fixed
Cost equals: A
(a) 250/Q (b) 250 (c) 10 (d)250/Q+10 =

Q.108. Read the following paragraph and answer questions numl;er_ 11w3_"_€1‘1___1-6
Anisha quit her job at a private company where_she earned Rs: 2,;90,000 a year. She
withdrew Rs. 4,00,000 in savings account that ¢arned 10% interest annually to buy a
second hand mini bus to commune passenger""lbetween C_am’haught Place and Noida.
There are 1000 passengers who will pay Rs. 40 d'a year each for commuter service;
Rs. 2800 from each passenger goes forpetrol, maintenance, depreciation etc.

What is Anisha's total revenue fromher cpnlmufer*servnce"
(a) Rs.40,00,000 (b) Rs. 2 9{) 000 4 [c )lfs 28 00,000 (d)Rs. 31,30,000

Q.109. Calculate Anisha's accounting costs" “ v
(a) Rs. 12,00,000 (b) Rs. 40,00 GQG : .-"fc )Rs. 28,00,000 (d) Rs. 8,70,000

=

Q.110. Calculate Anlsha S eqorlmmlc cost"
(a) Rs. 3, 30 000 '=| |(b}Rs 40,000 (c) Rs.28,00,000 (d)Rs. 31,30,000

.*"‘ k J _,-'v { “.~"‘l
Q.111. We ¢an say.that Anisha:
(a) earfled ecbﬁomlc profits but suffered accounting loss
(b) earned economlc profits and accounting profits
(¢ )sufferéd economic loss and accounting loss
(d)earned accounting profits but suffered economic loss.

Q.112. Read Table 2 and answer Questions number 117 - 118.
With the same amount of resources , a farmer can feed the following combinations of
sheep and cows:
Given the options available to him, what is the opportunity cost to the farmer of
feeding one cow?

(a) 1 sheep (b) 3sheep  (c)9 cows (d) 9 sheep.
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Q.113.

Q.114.

Q.115.

Q.116.

Q.117.

Q.118.

Q.119.

Q.120.

Q.121.

Q.122.

Give the options available to him, what is the opportunity cost to the farmer of
feeding one sheep?
(a) 9 sheep (b) 3 cows (c) 1/3 sheep. (d) 1/3 cow

Read the following paragraph and answer questions 119 - 121

Nicole owns a small pottery factory. She can make 1,000 pieces of pottery per year
and sell them for Rs. 100 each. It costs Nicole Rs. 20,000 for the raw material to
produce the 1,000 pieces of pottery. She has invested Rs. 1,00,000 in her factory and
equipment: Rs. 50,000 from her savings and Rs. 50,000 borrowed at 10 percent.
(Assume that she could have loaned her money out at 10 per cent, too.) Nicole can
work at a competing pottery factory for Rs. 40,000 per year.

The accounting cost at Nicole's pottery factory is:

(a) Rs. 25,000 (b) Rs. 50,000 (c) Rs. 80,000 (d) Rs.75,000

The economic cost at Nicole's factory is:
(a) Rs. 75,000 (b)Rs. 70,000 (c)Rs. 80,000 (d)Rs. 30,000

The accounting profit at Nicole's pottery factory is: ) _ ,_

(a) Rs. 30,000 (b) 50,000 (c)Rs.80,000 4 @) 75000
[ 4
Opportunity cost is:(N,06) -
.
(a) Direct cost (b) Total cost-.. -

(c) Accounting cost (d) Cost of foregonef opportunity
| l "

If LAC curve falls as output expands, thlS-lS due to: :M 07]
(a) Law of diminishing ratains y (b) Eéonomlcs of scale
(c) Law of variable proportion ¢ - 9 4 (d) 1513 economics of scale

Suppose, the total of Rroductlon\ of commodlty X is Rs. 1,25,000. Out of this cost
implicit cost is Rs. 35,000"and anmal proflt is Rs. 25,000. What will be the explicit

cost of commodity )b (ao7)y |

(@)90,000 | (b)65000 (c) 60,000 (d) 1,00,000

Implicit: cost may be lieﬁned as the:(N,07)[SM-75]

(a) Cost wh‘lch do not change over a period of time

(b) Cost, whlch-the firm incurs but doesn't disclose

() Payment{to the non-owners of the firm for the resources

(d) Mone¥ payment which the self employed resources could have earned in their best
alternative employment

Which of the following is known as envelope curve? (J,08)
(a) MC curve (b) AFC curve (c) LAC curve (d) TFC curve

Long run does not have:(D,08)
(a) Average Cost (b) Total Cost (c) Fixed Cost (d) Variable Cost
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Q.123. Long run price is also called by the name of (D,10)
(a) Market price (b) Normal price (c) Administered price (d) Wholesale price

Q.124. In the long run all factors are -(J,11)
(a) Fixed (b) Variable
(c) All factors remain unchanged (d) None.

Q.125. Cost in terms of pain, discomfort, disability involved in supplying the various factors
of production by their owners are termed as .(J,12)
(a) Social Cost (b) Explicit Cost (c) Real Cost (d) Implicit Cost

Q.126. The cost of resources owned and employed by the entrepreneur himself in his
business is termed as cost.(J,12)

(a) Explicit (b) Implicit (c) Fixed (d) Variable.

Q.127. In which of the following cases opportunity cost concept applles 7{},1 3)

(a) Resources have alternative uses  (b) Resources have limited’ uses

(c) Resources have no use (d) None of the above ["

Q.128. The positively sloped (rising) part of the long run- average t:ost curve indicates

working ofthe ______ (D,14)
(a) Diseconomies of scale (b) IncreasmF l'eturns to scale
(c) Constant returns to scale (d'j ECQnoml-%s Q‘f' scale

.-r,.‘r s i'

Q.129. A firm’s long-run average total. cost curve is. [SM 70]
(a) Identical to its long-run marglnal cost‘curve as ‘all factors are variable.
(b) Also its long-run total.cost curvé,because it explalns the relationship cost and quantity
supplied in the long run. "“.,-t'_..-:i"’ i
(c) In fact the average total cost-cur—ve “of the optimal plant in the shor run as it tries to
produce atleast cast’ 4
(d) Tangent to alllsho t- ran average total cost the curves and repesents the lowest average
total cost for producmg each level of output
Q.130. Economlc costs of production differ from accounting cost of production because
[SM-77]
(a) Economlc costs include expenditures for hired resources while accounting costs do not.
(b) Accounting costs include opportunity costs which are deducted later to find paid out
costs.
(c) Accounting costs include expenditures for hired resources while economic costs do not.
(d) Economic costs add the opportunity cost of a firm which uses its own resources.
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Q.131.

Q.132.

Q.133.

Q.134.

Q.135.

Q.136.

Q.137.

Q.138.

Q.139.

INSTITUTE OF COMMERCE THEORY OF COST

Which of the following statements is correct?

(a) The LAC curve is also called the planning curve of a firm.
(b) Total revenue = price per unit number of units sold.

(c) Opportunity cost is also called money cost.
(

d) If total revenue is divided by the number of units sold we get marginal revenue.

Diminishing marginal returns implies:[SM-7]
(a) Decreasing average variable costs.

(b) Decreasing marginal costs.

(c) Increasing marginal costs.

(d) Decreasing average fixed costs.

Use the following information to answer questions 133-135

Hours of Labour Total Output Marginal Product

0 - -
1 100 ) 100
2 - 80
3 240 { -

What is the total output when 2 hours of labour are employed?[SM 14]

(a) 80 (b) 100 (c) 180 (d) 200— . ’_

What is the marginal product of the third hour qf la‘bour" [SM 15]

(a) 60 (b) 80 (100 (d) 21;0

What is the average product of the fn“st thrEe -hgur;s of labour?[SM-16]

(a) 60 (b) 80 (c] 100 (d) 240

Which of the followmg g cost curvgs is neVer ‘U shaped"[SM 18]
(a) Average cost curves “ 7 ,(b) Margmal cost curve.
(c) Average variable (IBPSIt curve. (d} Average fixed cost curve.

il

In the short Tun;whe tﬁe (;ﬁ'tput of a firm increases, its average fixed cost:[SM-21]

(a) increases:, (b) decreases.

() remalnsgénStant “(d) first declines and then rises.

Which of the followmg is an example of “explicit cost”? [SM-25]

(a) The Wages a proprietor could have made by working as an employee of a large firm.

(b) The income that could have been earned in alternative uses by the resources owned by
the firm.

(c) The payment of wages by the firm.

(d) The normal profit earned by a firm.

Which of the following is an example of an “implicit cost”? [SM-26]

(a) Interest that could have been earned on retained earnings used by the firm to finance
expansion.

(b) The payment of rent by the firm for the building in which it is housed.

(c) The interest payment made by the firm for funds borrowed from a bank.

(d) The payment of wages by the firm.
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Use the following data to answer questions 140-142.
Output (0) 0 1 2 3 4 5 6

Total Cost (TC) Rs.240 Rs.330 Rs410 Rs.480 Rs.540 Rs.610 Rs.690

Q.140. The average fixed cost of 2 units of output is :[SM-27]
(a) Rs.80 (b) Rs. 85 (c)Rs. 120 (d) Rs. 205

Q.141. The marginal cost of the sixth unit of output is :[SM-28]
(a) Rs.133 (b) Rs.75 (c) Rs.80 (d) Rs.450

Q.142. Diminishing marginal returns start to occur between units: [SM-29]
(a) 2 and 3. (b)3and4. (c)4and5. (d) 5 and 6.

Q.143. Marginal cost is defined as: [SM-30]
(a) The change in total cost due to a one unit change in output.
(b) Total cost divided by output.
(c) The change in output due to a one unit change in an input. p \
(d) Total product divided by the quantity of input AV

Q.144. Which of the following is true of the relationship betweer{ the margmal cost function
and the average cost function? [SM-31] —
(a) If MC is greater than ATC, then ATC is falling. &7 T _
(b) The ATC curve intersects the MC curve at mlnlmum MC. 4
(c) The MC curve intersects the ATC curve at minimuna ATC
(d) If MC is less than ATC, then ATC is lncreasmg I

L=

et -._’ ;

Q.145. Which of the following statements is correct c*dn“cernmg the relationships among the
firm’s cost functions?[SM-34]{- :,".'i'-"é'-»
(a) TC=TFC-TVC. (b]‘aTNC = TF C -TC.
(b) TFC=TC-TVC. _— = (d)-—TC =TVC - TFC
' At
Q.146. Suppose output mcréasés in the-shert run. Total cost will: [SM-35]
(a) Increase due to an 1ncrease in fixed costs only.
() IncreaSe due tlo an 1ncr'ease in variable costs only.
(c) Increase due to an’ mcrease in both fixed and variable costs.
(d) Degrease lf the firm is in the region of diminishing returns.

Q.147. Which of the followmg statements concerning the long-run average cost curve is
false"[SM 36]
(a) Itrepresents the least-cost input combination for producing each level of output.
(b) Itis derived from a series of short-run average cost curves.
() The short-run cost curve at the minimum point of the long-run average cost curve represents the
least-cost plant size for all levels of output.
(d) As output increases, the amount of capital employed by the firm increases along the curve.
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Q.148. The negatively-sloped (i.e. falling) part of the long-run average total cost curve is due
to which of the following?[SM-37]
(a) Diseconomies of scale.
(b) Diminishing returns.
(c) The difficulties encountered in coordinating the many activities of a large firm.
(d) The increase in productivity that results from specialization.

Q.149. The positively sloped (i.e. rising) part of the long run average total cost curve is due
to which of the following?[SM-38]
(a) Diseconomies of scale.
(b) Increasing returns.
(c) The firm being able to take advantage of large-scale production techniques as it expands
its output.
(d) The increase in productivity that results from specialization.

Q.150. A firm'’s average total cost is Rs. 300 at 5 units of output and Rs. 320 at 6 units of
output. The marginal cost of producing the 6th unit is :[SM- 39]
(a)Rs.20 (b) Rs.120 (c)Rs.320 (d) Rs.420

Q.151. A firm producing 7 units of output has an average total co*,st of Rs 150 and has to pay
Rs. 350 to its fixed factors of production whether it produces or nat ‘How much of the
average total cost is made up of variable costs?[SM-40] gl
(a) Rs.200 (b) Rs.50 (c) Rs.300 (d) Rs 100 "*'-=-.--.7;T—““

Q.152. A firm has a variable cost of Rs. 1000 at 5 unit: of ,tmtplit If fixed costs are Rs. 400,
what will be the average total cost at 5Whits of o,ul;put"[SM 41]
(a)Rs.280  (b) Rs.60 (c) R 120 J !,,‘«(d) Ré 1400

Q.153. Which of the following is a varrable cost mj;he short run? [SM-57]
(a) Rent of the factory. ) 4 .
(b) Wages paid to the, factorylabour »
(c) Interest paymenﬂs on borroWea flnancIal capital.
(d) Payment on the le%lsé for factm‘y equipment.

Q.154. A firm’s, long rud avelrage total cost curve is. [SM-72]

(@ Ir_clentlca_l__,to‘al*ts long-run marginal-cost curve as all factors are variable.

(b) Also its l@flg -run total cost curve because it explains the relationship cost and quantity
supplled in the long run.

(c) In fact the average total cost curve of the optimal plant in the short run as it tries to
produce at least cost.

(d) Tangent to all short-run average total cost the curves and represents the lowest average
total cost for producing each level of output.

Q.155. Marginal cost changes due to changes in ———— [SM-79]
(a) Total cost (b) Average cost
(c) Variable cost (d) Quantity of output
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Q.156. Which of the following statements is correct?[SM-80]
(a) Fixed costs vary with change in output.
(b) If we add total variable cost and total fixed cost we get the average cost.
(c) Marginal cost is the result of total cost divided by number of units produced.
(d) Total cost is obtained by adding up the fixed cost and total variable cost.

Q.157. Which of the following statements is incorrect?[SM-81]
(a) The LAC curve is also called the planning curve of a firm.
(b) Total revenue = price per unit x number of units sold.
(c) Opportunity cost is also called alternative cost.
(d) If total revenue is divided by the number of units sold we get marginal revenue.

Q.158. The vertical difference between TVC and TC is equal to-[SM-82]
(a) MC (b) AVC (c) TFC (d) None of the above

Q.159. Which of the following statements is correct? [SM-24]
(a) When the average cost is rising, the marginal cost must also be rising.
(b) When the average cost is rising, the marginal cost must be falling : )
(c) When the average cost is rising, the marginal cost is above thé average cost.
(d) When the average cost is rising, the marginal cost must be rlslng '

Q.160. The distinction drawn between fixed and variable costs is ba’s'ed on [SM 82]
(2) Whether the costs can or cannot be changed durmg thelife.of- tHe plant
(b) Whether the costs are or are not legally contraéted hence, qnchangeable
(c) Whether the costs do not enter the calculation of totai costs
(d) Whether the costs do not vary w1th the T optput ,prqduced in the short run.
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